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Find the surface area of the solid. lheck o ke nek
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FPattern blocks can be arranged to fit in a circular pattern without leaving spaces. Remember that the

measurement around a jfull circle is 3607,
2. Find the degree measure offwo +hirdg of the numbered angle shown below. All angle measures are congruent.
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U 2t>
k J 3. Explain how you can find the distance between two points without a ruler.
Include (1) how to use the Pythagorean Theorem and (2) the Distance Formula to find the distance between two
points, and the length of PR from the figure given below. .
Find the distance using both methods. 2 \01 T e r 2 Pts
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(™ 4. The coordinates of midpoint M and endpoint C of a segment are M/(3, S)and C(~4%) Find the coordinates of the
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U\\\ \5 BONUS QUESTION The longitude-latitude coordinates of Worland, Wyoming are (él 20, 10 648 w)] and of
\ Wl k " Portland, Maine are (L! 0%’ N, 72 2'!”]1/) If Worland is one endpoint of a segment and Portland is its midpoint,
Ku L.'L ./ find the latitude and longitude of the other endpoint. . i T— J-/{‘S‘ J‘;’()SS-. G
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